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BEENDN BEENDN BEENEH BEENDH
LEEO B BN , TEE0 B8 B ,
IRBTRIROER |ooun/m? %182 R BRERRORR |100n/m? %82 HRHE
ADRES  tE%E |NORES 1R |NOAEE rEF | NOASE  tEF NDRES  tEE [NORES  1EE |NOAES tE%E |HOAEE  1E%
DBBA OB |DBBA 0B |OBBA  oBx |OBBA 0B DBLBA  OFS |DBBA 0B |OBBA  ops |OBBA  ons
DLD DLD DLD DLD DLO DLD DLD DLD
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1~ 2 1160 10 1000 10 - - 10.7 22 ~
2 ~ 3 104.6 1.0 1000 1.0 - - 10.2 2.1 ~
3 ~ 4 107.6 1.0 1000 1.0 - - 10.1 20 ~
4 ~ 5 1199 1.0 1000 1.0 - - 11.1 22 ~
5 ~ 6 - - 1000 1.0 - - 118 2.4 ~
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